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NEW QUESTION 1
In order to evaluate the real-time relative disorganization of an index, which catalog table would you query?

A. SYSIBM.SYSINDEXES
B. SYSIBM.SYSINDEXPART
C. SYSIBM.SYSINDEXSTATS
D. SYSIBM.SYSINDEXSPACESTATS

Answer: B

NEW QUESTION 2
Which of the following SELECT statements returns a different data value than the other SQL statements ?

A. SELECT MONTH (CURRENT TIMESTAMP) FROM SYSIBM.SYSDUMMY1;
B. SELECT EXTRACT(MONTH FROM CURRENT TIMESTAMP) FROM SYSIBM.SYSDUMMY1;
C. SELECT LPAD(LTRIM(SUBSTR(CHAR(CURRENTTIMESTAMP(10))l6l2)t,0')l11l") FROM SYSIBM.SYSDUMMY1;
D. SELECT TIMESTAMPDIFF(64. CHAR( CURRENT TIMESTAMP - TIMESTAMP('2016-01-01-00.00.00'))) FROM SYSIBM.SYSDUMMY1;

Answer: A

NEW QUESTION 3
Consider the following scenario:
User1 creates table USER1.TABLE1 in DATABASE1 User1 grants ALL PRIVILEGES on TABLE1 to User2 User2 grants ALL PRIVILEGES on TABLE1 to User3
User1 revokes ALL PRIVILEGES on TABLE1 to User2 User3 has DBCTRL authority on DATABASE1
Is User3 able to retrieve rows from TABLE1?

A. No
B. Yes
C. No, if the revoke used INCLUDING DEPENDENT PRIVILEGES
D. Yes, if User3 was granted DBCTRL prior to the creation of table USER1.TABLE1

Answer: B

NEW QUESTION 4
To ensure only positive values are entered into a column, you add a constraint on the SALARY column of a previously populated table If D32 cannot guarantee the
existing values in the column are positive, it will place the table space or partition that contains the table into which of the following states?

A. CHECK PENDING
B. REORG PENDING
C. REBUILD PENDING
D. ADVISORY REORG PENDING

Answer: A

NEW QUESTION 5
Which BIND option determines when DB2 will do authorization checking?

A. DEFER
B. DEPLOY
C. VALIDATE
D. CURRENTDATA

Answer: C

NEW QUESTION 6
We want to increase the salary for each employee (EMP) in the department (WORKDEPT) D11 and we want to see the new salaries(SALARY) for each of them.
Which single SQL statement will do this?
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A. A
B. B
C. C
D. D

Answer: D

NEW QUESTION 7
Which types of user-defined data types are supported? (Choose two.)

A. CHAR
B. ARRAY
C. NUMERIC
D. DISTINCT
E. TIMESTAMP

Answer: BD

NEW QUESTION 8
You are designing a payroll table that will contain a salary column. Which of the following is the appropriate built-in data type for a salary column?

A. REAL
B. BIGINT
C. DECIMAL
D. INTEGER

Answer: C

NEW QUESTION 9
What is the proper sequence for running the steps of the program preparation process?

A. Precompil
B. compile, link edit, bind
C. Bind, precompile, compile, link edit
D. Precompil
E. bind, link edit, compile
F. Link edit, precompile, compile, bind

Answer: C

Explanation: 
https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/intro/src/tpc/db2z_programprepprocesses.ht

NEW QUESTION 10
In a unique referential constraint, which type of key does a foreign key reference?

A. Child key
B. Collation key
C. Parent key
D. Secondary key
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Answer: C

NEW QUESTION 10
Which of the following are advantages of DB2 for z/OS data sharing over a standalone DB2 subsystem implementation? (Choose two.)

A. Reduced active logs
B. Reduced storage use
C. Higher transaction rates
D. Reduced lock contention
E. Increased data availability

Answer: CE

NEW QUESTION 14
Which of the following statements about a table with a LOB column is TRUE?

A. It doesn’t need an auxiliary table if it has an inline LOB
B. It must also have a ROWID column and an auxiliary table
C. It doesn’t need a ROWID column (implicit or explicit) if a LOB locator will be used
D. It must be in a partitioned by growth (PBG) universal table space with a ROWID column

Answer: B

NEW QUESTION 16
Given the following sequence of events:
* 1) COL1 in SCHEMA.TABLE has a value of 10
* 2) Update COL1 in SCHEMA.TABLE to 20
* 3)SetSAVEPOINTA
* 4) Update COL1 in SCHEMA.TABLE to 30
* 5)SetSAVEPOINTB
After issuing the statement: ROLLBACK TO SAVEPOINT
What will be the value in COL1 of the SCHEMA.TABLE?

A. 10
B. 20
C. 30
D. An -880 SQLCODE will be issued when the statement is executed

Answer: D

NEW QUESTION 18
User1 creates table user1 .customers in a partitioned-by-growth (PBG) table space DB1.TS1
Which of the following operations CANNOT be performed by user1 with implicit owner privileges on the table?

A. Run the LOAD utility to load data
B. Create a VIEW on the customers table
C. Run the REORG utility to reorganize the data
D. Issue an SQL LOCK TABLE statement against the customers table

Answer: A

NEW QUESTION 19
Using the SQL statement DECLARE GLOBAL TEMPORARY TABLE (DGTT) which of the following is TRUE?

A. A DGTT is only stored in memory
B. The qualifier for a DGTT is SESSION
C. The DGTT can be specified in a referential constraint
D. All privileges associated with the DGTT are stored in the DB2 catalog

Answer: B

NEW QUESTION 23
Which option is used with the RECOVER utility when the data sets of the target objects have already been restored to a point of consistency by another process
offline?

A. LOGONLY
B. FROMDUMP
C. TOLASTCOPY
D. CURRENTCOPYONLY

Answer: A

NEW QUESTION 24
Which DB2 address space manages DB2 locking?
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A. IRLM
B. DIST
C. DBM1
D. MSTR

Answer: A

NEW QUESTION 26
Which type of constraint is NOT enforced by DB2 during SQL processing?

A. Check
B. Referential
C. Primary key
D. Informational referential

Answer: D

NEW QUESTION 27
You need to add the employee picture to the employee table. Which of the following is the appropriate built-in data type for storing images?

A. BLOB
B. CLOB
C. DBCLOB
D. VARGRAPHIC

Answer: B

NEW QUESTION 30
A summary table can be easily maintained using which of the following?

A. An auxiliary table
B. A partitioned table
C. A bi-temporal table
D. A materialized query table

Answer: D

NEW QUESTION 34
Which privilege will user smith be able to grant to another user on table emp when the following SQL is executed?
GRANT ALL ON TABLE emp TO smith WITH GRANT OPTION;

A. BIND
B. REORG
C. TRIGGER
D. EXECUTE

Answer: D

NEW QUESTION 36
Which of the following are contained in the PLAN_TABLE? (Choose two.)

A. RUNSTATS recommendations
B. Access to LOB values, which are stored separately from the base table
C. Access to parent or dependent tables needed to enforce referential constraints
D. Whether an index access or table space scan is used for each access to a table
E. The join methods and types that are used, and the order in which DB2 joins the tables

Answer: DE

NEW QUESTION 37
Which package level privileges does the user smith have when the following statement is executed? GRANT ALL ON PACKAGE clct1.pkg1 TO smith;

A. GRANT, COPY, BIND, RUN
B. BIND, EXECUTE, COPY, RUN
C. CREATE, COPY, RUN, EXECUTE
D. COPY, BINDADD, SQL, EXECUTE

Answer: B

NEW QUESTION 38
An external stored procedure is invoked using a CALL :hv (host variable). Which special register identifies the location of the procedure?

A. CURRENT PATH
B. CURRENT SCHEMA
C. CURRENT PACKAGESET
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D. CURRENT ROUTINE VERSION

Answer: D

NEW QUESTION 42
Which of the following table space types does NOT support the use of REORG TABLESPACE SHRLEVEL(NONE)?

A. LOB
B. Simple
C. Partition-by-range
D. Partition-by-growth

Answer: A

NEW QUESTION 46
What is the implicitly created column in a base table which contains an XML column called?

A. Node ID
B. ROWID
C. LOCATOR
D. DOCID

Answer: B

NEW QUESTION 49
......
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